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Applications of Right Angle Trigonometry
ANGLE OF ELEVATION/DEPRESSION

Angle of Depression - is the angle between

Angle of elevation - is The angle

between the ground _/ the horizon and the line
and the line of of sight.

sight.

(angle of inclination) 1

}; Always outside the triangle

Always from the GROUND up

Example 1:
Two trees are 100m apart. From a point ol midway between them, the angles of
elevation to their tops are 8 and 13" How much taller is one tree than the @
I (49 = 7
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Example 2:

The 8" floor of an apartment building is 25m above the ground. From the 8t
flogr, the angle of elevation to the top of the other building is 507 The angle
of depression to the base of the taller building is 34", Determine the height
of the taller building.
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B 1. Find the measure of the indicated angle.

i
§

2. Find the length of fhe indicated side.
(d)

ta) (b) (c) :
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3. Solve the following triangles.
(a) (b)-

A

(e)

>
1%}
o

fes)

4.1

C c
1. (a) 39° (b) 53° (e) 60° (d) 35° (e) 45° (F) 57° (g) 65° (h) 28° §
2. (a) 142 b) 134 (c) 355  (d) 89.9 (e} 1.8 (f) 235 (g) 112 (h) 161 1,

3. (a) LA=39 £LC=51°, b=32 (b) LA=45°, 3=80.6, c=80.6 (c) LA =25° a=6.34, b=13.6
" (d) £LB=52°, £C=38,¢c=117 f{e) b =539, LA=50°.LC=40° (f) c=3.91, LA=40° /B=50°
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